
 
1- Entoure l’opération qui correspond au schéma. 
 

 
3 + 4 + 6 + 2 + 5 = … 
 

(3 × 4) + (6 × 2) + 5 = …. 
 
(3 + 4 + 6 + 2) – 5 = …. 
 
… + 3 + 4 + 6 + 2 = 5 
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(9 + 7 + 5) – 10 = …. 

10 + 9 + 7 + 5 = … 

 
9 7 5 

 10  
 
6 + 5 + 5 + 5 = … 
 

(5 × 3) + 6 = …. 
(5 × 3) – 6 = … 
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2- Complète les schémas 
 

 
(3 × 4) – 2 = …  

 
   

  
 
 

 
 

(5 + 2 + 6 + 3) – 6 = …  
 
 

 
    

  
 

 
 

(4 + 6 + 5) - 8 = …. 
 

 

 
   

   

 

 
Schématiser des 

opérations diverses 1  



 

 
Trouver l’opération 2  

 Écrire l’opération qui correspond à chaque schéma : 
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